Formula Sheet
Introduction to Corporate Finance
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Introduction to Corporate Finance Formula Sheet (cont)
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Depreciation Rate for Recovery Period

Year 3 Years

5 Years

7 Years 10 Years 15 Years

20 Years

0 33.33
1 44.45
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Introduction to Corporate Finance Formula Sheet (cont)
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Table 12.2: Percent Annual Default Rates by Debt Rating

Rating AAA AA A BBB BB B CCC CC-C
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Ave. 0.0 0.1 02 05 22 55 122 14.1
Recessions 0.0 1.0 3.0 30 8.0 16.0 480 78.0

Table 12.3: Average Debt Betas

By Rating A above BBB BB B CCC

Avg. Beta <.05 .10 A7 .26 31

By Maturity 1-5Yr 5-10Yr 10-15Yr > 15Yr

Avg. Beta 001 006 007 014
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Introduction to Corporate Finance Formula Sheet (cont)
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